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20k 22 - IUALY - SRAA(3IH) o & o HES ook HimE=T =
ES Al 836,556 755,024 81,532 10.80%
ALY 749,234 690,473 58,761 8.51%
HeEs 31,824 11,358 20466 180.1%%
HY2HZHI 55,498 53,193 2,305 4.33%
Ut SHE 31,824 11,358 20,466 180.19%
WE - 28 31,824 11,358 20,466 180.1%%
MHeas(SXE 1) 31,824 11,358 20,466 180. 19%
BEXE(LZS0IISEL3H) 31,824 11,358 20,466 180. 19%
A2l =X 749,234 690,473 58,761 8.51%
DIESPS kS, 749,234 690,473 58,761 8.51%
SIIBENEEE S 749,234 690,473 58,761 8.51%
MNASE Ad=2XA(A=220HII2SLESA) 749,234 690,473 58,761 8.51%
JIEt 55,498 53,193 2,305 4.33%
JlEt 55,498 53,193 2,305 4.33
HE2AZH(SXE21) 55,498 53,193 2,305 4.33%
olA2IHI(Y =220 IS EESIN) 55,498 53,193 2,305 4.33%




